LDPL-17

PART =111 /9| - 11
General Aptitude / msrﬁqﬁr

101. Find the next letter in the given series *

ACGM, =
i T (2 U
(3 W 4y WV

102, In the following series, replace the
missing number, denoied by 7, with a

suttable option ;
2, 13, 35,2, 112, 187
1y 45 2y M

{} 68 (4) 55

183. Choose the option that expresses the

same relationship as the followmg :
lodine ;| Goitre
(1)  Fat: Ohesity
(2) Calcium : Tecth
(3} Vieamin D : Sunlight
(4}  Vitamm A ; Night-blindness
[04. If in some code languapge *“TEACHER'
is writlen as “YDCBIDLE', how will
*STUDENT® be wrimen in the same
language 7
(1) UVSDFMYV
(2 UVWGGPY
(}) RSTCDMS
(4}  USWCGMY

101, orE o 30T A ] ST

ACoM..
(T () u
(3 W {4y V¥

o2, Frefafia sjgen & 59 dmn (7) & =
3fan faway qhe

{1ty 4% 4 Y
(3 6% (4y 55

103, 7% Py 9fm 9 o @t mm Oy
o B a2
WA - g
(1) a1 : JIET
(2) ey ;o
13) b S 8 9 e
(4) Tazrfus o . =t

~

104, a7 feft 7w ¥ TEACHER®
'VOCBIDT ot wt 2, &1 STUDEN
=13t smar | o s i o 2
(1) UVSDEMV
(2)  UVWGGPV
(3)  RSTCDMS
4  USWCGMV



{31 r
105, s Ftaa &) of 5 wdrd o osofan &

wFam & unn & aivm Ffaa Ll Framm dy

1.nr-17
105, Soma is the miece of Kavita's mwther.

sonia’s father 15 Kavila's  mosternal

pocle, Sarta s kavia's mother's sister

How 15 Somnia related to Samig 7

s A g T g R 7

{1 Niece (1) v
{2y Sister (2)y W3
{3y Aunt {n umf
(4)  Cousin (4) waft e
106, Arrange the following  words  in 106, fr=fafms w2 o s s & aoimen
alphabetical order and choose the wond o w1gAm srrfiory £ T aR We
that connes exactly in the middle y o ;
Afm =1 wwgm (wdtw) v B TR
{ad  Cherry
{a})  Chemry
{1 Cherish
ib)  Cherish
Chess
e " {c) Chess
] Shegue () Cheque
(el  Cherokee (e} Cherokee
1y la) (2) () (1 (a} 2y (d)
(3) (e (4} (b (31 (e 4 b

107, Choose the word which is diflTerent from

107, #it ¥ie2 AFm ) arm wadi & fam 2 |

others.

(ly T
{1}y Lamb
(2} Cm 2y fo=h
(3)y GCall (3 w3
(4)  Puppy

(4) Teen




108,

1w,

Cioven  situation s followed by two

courses of activn: numbered | and 1

Ascymme the sitgation o be iruc,

irespechive of the known facts, decide

which oof the supgested course of action

legically follows the given situnten ;

Situation © You know  (hat  the
probability  of  out-break  of
malarea s very high during the
MHIMECOIE SLason,

Course of Action

I You take preventive measures 1o
stofr tosguibo breeding before the

MM e SERSon

I Spread  awareness m general
pabhe about how o aveid and

control malana.
(1) Only | follows.
(2} Oaly l follows
(3} Dvh band 1] follow,
(4}  Nenher onor [T follows.

For the Assertion (A) and Reason (R)
below, chasose the cormect alicrmative -

Asserion (A) © Days are holter and
nights are coliler in a desent than
1 a coastal area

Fcason (R) : A desert dowes ot have
sulficient trees.

(1) Boith (A) and (R) are true but (R)
1% ool the correct explanation of
(A

(23 HBoth {A)and (R) are troc and (R)
15 the cormect explanation of { A).

(3)  (A)is true and (R 1s false,
(4)  (A) s false and (R) is true,

(34)

Loriaz

lox. & iRt & g @ s s

IR

[ 1 mgrd g 3 | s A &1 fae fa
faq, wafefa @ @ wER Ao
gy @7 Y9 w0 R 38 Tk
A s 1 F Fdmara BT ¢
afffa - @ & fE arma & dan g
i Yt o s daH 30T R

wrEnfeal

[y qrgr ot § g F oot &
oo i) (T &

[l | agm A2 oww et e fa
st 31t wn A0 A ST 0 ET A |

() am|udtd)
(2 am |l wAR
(3) 1l HA R

(4 AlaFllaA g

#14 fan o wheea (A) @ s (R) &

fero T faweg gfm

NuwFeE (A) - a4 ad s
¥ fam wifaw mi & 03 afas
v FAl 3

Fw (K - A O wgig e At A

(1) (A)a (R &1 weg &, w4 (R),
{A) Ft wh =man 381 2

(2) (A (K @ me # oamn (R, (A
F1Hf EnEm

() (AyAE R, Ry WA k|

(4) (A)5A= 2, T (Ry AR
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112.

Two  statements  are piven helow
fotlowed b two comclusions T oand (1.
Let us consider that both the statements
are  tre  mespective of  commonly
known focts. Mow decide which of the
prven  eonclusions  logically  fullow(s)
the given two statements, disregarding

the kmown facts.
Statements ;

{A)Y  Some dogs are hlack.
(L)

sorme dogs are white,

Conelhusions

(I} Dopgs are cither hlack or white.
{1} Dwogs are netther black nor white.
(1Y Only conclusion | follows,

{2y Only conclusion 11 follows,

(3 Both conclusions | and I follow,
{4y  Metther of the conclusions tollows

Arrange the words piven below in a
meaningful sequence.

(a) Yarn {h}  Cotton ball
{c) Garment (d) Fibre

{¢} Fabnc

{1y daehe {2} bdcac
(3} hdaec {(4) deabe
Sclect the word which can be formed

using the letiers of the given word @
EDUCATION

(1)
(3)

NATION
TENSION

MENTION  (2)

CAUTION (4)

{35)

112.

21 e & 2 Pl | & () fem & o gy et
ot e e af ag e e b g
27w wey B o s fam o famed
o # whoa feed @ s 4 fem
TR |

T
(A) W F A R

(By & g wha )

Freend |

(h  gAmarEe kg #

I REEECE R =

(1) A T pwdl

(2) e e v 2

(v Fedransasd

(4y  wrd o Famed sy T R

fam mm madf &) vyt s i erafim
i

{a) M (b) T
(c) 9huTH (dy tm
e} FHE

i daehe {(2) hdeac
() bdaec (4) deabe

T ww g @ fw o v
EDUCATION % e 8 99m 1 9%
(1)
{3)

NATION
TENSION

MENTION
CAUTION

(2)
(4)
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r (36)
frafafias mam ) sfgw s =%y m 116, FFHAF AIZE T
W H. 113 B 18 AR F 3oy A (1 3wt wad fm fa
e fefl | fe mifaA g 2 2o m A (2)  mE la TE N ?
[ £ :-' o7 st i -
flu:r-n oA r1l1l #, U 31-| 4 A3 Ay :rlr'n 2 fr & s i ST o SR,
Fan ymfas dan fead yge ot e ¥
faeft % g = 0 2N faft 1 ave o A (4) I w491 AR
RET W WEE # | TR # R w1
e wemil B Weaan S wmem A 117, of* 21 woe § v aw waiim @3 e
WemT Gd F wrmn g ot we ) d o e qAET 1 FE T 2
TATE &1 HAH WTEFF 98 3§ — 7o fyears |
1y 2

113, =lss gadl £ grgm 3 Figaan 1 (2) iR

ift 2 {3) it

(1) PR W & (4) AR

{2} =Elaw eyl @t . k! -
118, =52 F] HIF HSFAMTAT F §98 7=

(3 WEH ¥ A T o & Thl
(4) TS TaT4 ) (1) oz faame
(2} 9& VT TEm

114. 7007 et & fom wef 3 2

(1) TE-Zat £ wrEant g

(3)  itferw wrhasafe

(4) TEmam T
(2)  ITeR T

(3)  TH-ZH g 119, W 1 W v 2

v il (o g
(2} 9o ) e
115, it HER' we & 2 I f e (3w Fyen

(3) famra-fairm (1) =t
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hrections (120 &€ {211 Read e extroct
Ve Boedow aomd chovse e aprilary wiach

correctly’ appreprately answer the guestions
thast follinw

Friendship and

increases our happimess by doubling our joy

dimimashes  our  misery
and dividing our gricl, When we Jdo well our

friends feel proud of us

120, Which of the following statements is'are
true or false ?
A A friendly man is always Bappy.
B, Value of everything decreases
when it is shured with others.
(1) Aastroe and 1315 false.
2y Aas false and B s tree,
{3y  Both Aoand B3 arc true.
{4y DBoth A and B are false.
121. Chwr friends are prowd of us because :
{1}y we can help them with money.
(2)  we bave succeeded in life,
{3)  we are not miserable.
(4)  we can share their grief.
122. Which one-word of the following best

describes the given expression 7

Unable 1o decide about what course to

Tollow

{1}  Ambivalent
{(2) Amenable
(1)  Anachronous

(4) Anarchic

(A7)

P
12N Which of the following senlences isfare
prammatically cormect 7
A, His wrnten statement is different

froem his oral one

. There is linle hope of success,

(1}  Aiscorrect and s wrong.
(2) A wrong and H s comect.
(}y Doth A and B are comect.
(4) Hoth A and B are wrong.
124. Which part of speech is the underlined

word in the given semence !

He lost hus all 1o the fire.

{1y  Adjective
(2) Adverb
{3y Moun
(4) Pronoun
Directions (125 & 1260 Complere  the
stateminty  given  below by selecting the
correclimost appropriale oplions,
125, 15 of greal ssgmicance in the
teaching ol commumicative language.
(1) Writing skill
(2} language use
(3}  Grammatical accuracy
(4) Form
126. In assessment, students

are asked to assess their classmates
duning a debate competition,

(1) seli-

{2) group

(3)  peer

(4} individual



l'l-
127, When [(307)* + 5] s divided by 198,

the rermaimder 15

iy |
(2} 2
(3 13
(4 4
F42:2 |
128. If TS +ax= [+ then
2+ a2 55 ]
E+T—1
&

the value of {x '} is

{21 IS5

I
3 1%
(4 2

129, In an examinatem, in which maximum
marks are 600, A got 10% less marks
than B, B got 25% more marks than C
andd C pot 20%% Jess marks than D17 A
got 364 marks, then what percentage of
marks was chiamnad by I 7

[
ty iy
N 50

2
(3) 66

(4) 60

{I8)

11

128,

129,

LDPL-17
[(397y599 + §] T 198 T WM EXIOT
FrEA#
(1
2y 2
i3 3

4 4

L]

=it
.‘
o
i
pam

g

L]
1.
P
W
L)}

(Y FEIAER
1
3
) 15
1
T

i4) 21

v e i faan st ot eon B, A
TR 0% M ONF, B A C A 25
wiUs 371F 3 O A DA 200 =9 3

wm TR | wfa A 3 360 3= m fau A,

Al D A fers wlovem ot wm Form 2
M

{2) 50

(3) ﬁﬁ%

(4} 60
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130, The parallel sides of a trapesium shaped

field are 2080 my and 100 m and non-

parallel sides are both equal, esch being

13 m. The area (in m) of the field is

(1) 12060
2y 15000
{3)  [&WM
{4 200

1}. A. DB and C arc emploved 1o do a pieoe
of work for T 3290, A and B 1opether

19
Miruslu=d ,,—]m'llnt work whereas B oamd

C together  limshed %nf' the work.

Whant should A be paid 7

{1y T920
(23 T840
(31 T2310
(4)  TM50

132, In a class of 50 students, 24 students
have taken mathematics. 16 have taken
mathematics but not biology. If each
student has taken either mathematics or
biology or both, then the number of
students who  have laken both

mathematics and biology is

(4
(2) 6
(3) 8
() 12

{39}

130.

131.

132,

I:II
T WHARTET 1A ) HErE Al 200
3 1o0 ot B e snggrem I we
3 wEEE 130 ft St 2 wA T OETEA

(¥ a) @

(1) 12000
(21 1500
(3} 1X000
(43 21000

UF F9 &1 P 444« fom oA, palh ¢
WMFAsoonfar a2 A e d

frerr wm W '—L{ v g faen wafs i

- by
3l ¢ 3 et @ @1 55 v o T |

A 1 e s fasd sifen 2

1y T9X0

(2} T 1840

(33 22310

(4y T 3450

s0 faenfdan <1 v wan 1, 24 frnfdai 2

nma fam, 16 3 nwfm faam SfA
Mafana 4 fowr | oz = 5 vd@w
foereft 3 an ot i an AR meE &
o w1, @ 3. faubdn $ w0 faedi
v 3 Aafasm 2 d e n, e 2
() 4
{Z) &6
{3y &
{4y 12



13, The Comstmotional (122" Ameondment)

Bl 201 4 15 related to :
(1} Cioewds and Services Tax

{2} Confermng Constilutional Status

o1 Judicial appaoantiments

(3) Land  boundary  agreements

between India and Hanzladesh

(4] Inclusion of languages

Wha wrote the bawk, “Asian Drama : An

Inguiry into the Poverty of Nations™?
(1) AdymSmih

(2} Andre Gunder Frank

{1} Gunnar Myrdal

() Amartya Sen

Who among the following is known as

*Father of White Kevolution in India” ?
(1) M5 Swaminahan

(2)  Verghese Kunen
(3} MK Vainu Bappu

{4y G.N. Ramachandran

LDPIyy

st B

(1) == ud WA

() =EE frgferat % fon s oy
(3 v 30 ETETe & ot i

T HEtd

(4} e AR i ]

‘ufyEm = vA gt 3R qms
FE T gETs feer feret 7

(1y vZm R
(2) = E e
(1) TEn fasie
(4) 3= U4

135. Ffafos 2 fedt syt o iy 90

EeEak il in
(1) TR, i
(2) @ffa Fem
(3) W Jquryg

(4) St e



LDFPI-1T
136. As per Census 2011, the population of

137.

138,

Incdia is
i1y 2 hllion (23 .51 balliom
{3) 1.40 Ballion (4} 1.2 malhon

Which of the following statements hold

TRUL™ for Mahatma Gandbi 7

{a) He took up the cause of the poor
peassnts against the excesses of
the Indigo Planters in Champarin,

(bY He led the Textile Workers'
agitation in Ahmedabad.

fc)  He organived a “Satyvagraha’ to
suppont  the peasants of Kaima
{Eheda) in Ciujarar.

{1y {ay&(bronly (2} (b)&{c)only

{3} fay&i{chonly (4) lahib) &)

In which year, was the Employment of
Manual Scavengers and Construction of
Dry Latripes (Prolbition) Act passed

by Governmmment of India 7

(1) 1983
{2y 1991
(1 1993
(4) 2015

(41)

P

136, TAMUAT 2011 F ITHT WA o wEEn

137.

118,

#
(1y 2 fafaaa (v 151 faferms
(3 t4aofafam (4 121 fatEEm

frfafam 4 @ o 1 = wEEd i

FANH T &

{a)  3A mEm & it feee F A
i fom wrft s wr e B Gf F
fawe sprd faam |

(by IHR WEEEEE O FUE TR
aab=1fr T 3 Tt = T R

(¢) TR AT F wer b fead &
HyE O weanee faea |

(1) FE (a) 741 (b)

(2) I (b) 7T (c)

(3) I (a) TE (c)

(4)  (a), (b) 71 (c)

frq = wa T=n F 20w gEaf
fratsg w3 gan s fain (Faines)
it wima fan o g

(1) 1983
{2) 1991
(3) 1993
(4) 2015



r

139. Pradlan  Mantn
(PMIDY) b5 relatod 10

(n

(1)

(3

(4}

140. How many davs of employment in a

veal are guarantecd o & rural household,

Jany

Skill Developument

Transfer Payrwenl

Incaoume Secirity

Financial Inclusion

[¥ian Yojana

under Maharma Gandhi Navonal Rurzl

Employment Guarantee Act 7

(1

(3

41, Ulitorsk hand, Uttar Prodesh, Bikar, West

Bengal and  Sikkwm

L

201

frontiers with

{1

{3)

Mepal

RBhuran

{2}

{4)

(2)

(4}

150

250

hasve codfiimon

Cherna

Myzanmar

42 Right o Information Act received

Presidential asscnt in the year

(1)

(3)

2004

2006

(2

(4)

20035

2007

{41}

1349, Wﬁﬂ'

140.

141,

14

LDrL-17
it s = (PAUDY) sl b

(1) wE EEan
(2 =TE T

(3 A H

{4 faima e

gy it Tt ool AT T
wfafm’ & 3=t o @ A e fe
F B mwd AR 0

{1y 10K {2y 150

(3 2W (4) 250

TmrETE, I uaw, farn, ofvan ==

w1 fafmn 6 o nefaw wiiifsrs i
EEEekEed B

{1y = (2) =W

(3} M (4)  Tamm

TN 1 whowm sfafigy 4 fan af
ngata i efisfa feh 7
(M 2004 (23 2005

(3} 2006 (4) 2007
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141,

144.

Which of the following Constitutienasl

Amendments 15 on “lManchayati Rug® ?

(1 7™ Amendment

(2% 73 Amendment

(3 M™ Amendment

(4 122 Amendment

Who headed the Sccond Backward

Cliasses Commission, 1979 7

{1y Justice Rajindra Sachar
{2y  Havindra Varma

{3y  Justice V.R. knishna lyer
{4) B Mandal

Which of the following siafements arc
“TRUE" for PAHAL Scheme 7

{a} 115 acash subsidy.

(b) It is a Dhreet Benefil Transfer
Scheme.

{¢) It is meant for consumers of LPGL

(1) (a) & (b)only

{2) (b} & (c)only

(3)  {a) & {c)only

(4)  (a) () & (c)

{(43)

l'l'

143, frafafiga i 4 #87 m afaus mraa

144.

145.

et rE woamnfra g

{1y Tiai HenE
(23 7l wvinge
(N 943t gz
(4)  122E] Haae

et Faoven s} s, 1979 7 wease
R

(1) =g W wen
{2y TErEan
(3 =rfd s Fen s
(4y i gy
PAHAL Ir7m & wesy § fysfafaa 9
AEM WA s gf 22 2
(@) e wlEnd (3w fom) 1
{by WE TEE HM AT ATAD
(Ihirect Benefit Transfer Scheme)
2
¢y == wAAHA Inaeal & fam
g i 2
(1) 4 (3) 741 (h)
(2} @ae (b A% (c)
(1) F=T9 () 47 ()
(4)  (a), (b) A (c)



F-
[46. Laure Baker is best known for
(17 his contmbanon 1o archacnlogy,
(2 hus oworks on reforrmung  Incdion
cducatronal svstem,
i3 peoinchng ndian fotk lere foems,
(40 hix contmbution w the  gost-
elfevtiive and  emvaronmicni-
fricnedly buwising,
147, Usam Bolt 13 a well-known athlete im
(h 100 metres, 2K meires Al
4 ¥ [N metres relay ninming
(21 Tople Jump
(3 Javelin Throw
{4y Pole Vault
148. Who, among the following, was

bonoured  posthumously with Padma

Vibhusham in 2016

(1} LR, Ananthamuny
(2} Drhirubbai Ambani
(3} Satyajit Ray

4y Salim Al

(44)

[ 44,

147,

148,

1.DP1-17

et T fama B =

i qnﬁr—q'iiarrlru‘m-r:niﬁfhv_r

(2y vt faen st 4 HWWOF
gt o fem

(h wmfts drs-mfe FoETW o
wianfed #73 & 1 4

(4} FHEA M A & WS YEAd
firn meft a7 e & fem

T =z v fawra vaeffe #

(1y 100 oz, 200 dfier T4 4« (00
dize il dg & o

(2 Frream

(3} Fafem i (wen =)

() WA afez

frefafias & & fa o Yen

Enpr 8 2016 3 wanfa fasn o

(1} A HA s
(2} ofrewmd stard
(3} werfa

(4y w3
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144,

150,

Woho nmeorng thie lh“ﬂ“"il‘lﬂ Wy i..|.|.1~.||:]_','
involvie] with the I.Iml'hn;:: ol the s

five year plan 7

(1Y S.A Dange

{2) KN Raj

(3} Dwen Daval Upadhvay

{4) M.G. Ranga

The President of India 15 elecied by the

members of an Flectoral  College

consisting of

{1} elected members of both Houses

of  Parliament and  elecred

Legislative
Assemblies of the States,

members of  the

(2)  all members of both Houses of
Parhament  and  Lepslative

Assetnblies of the States.

clevted members of  the

(3 all
Parliament, Legislative Assemblics

and Legislative Councils.

{4y all members of both Houses of

Parliament.

{4%)

'I'I

149. wedl yaefls g & Bum d

Fresferfiy # O a3 w=fu® 2 9 2
{1y UEL EA
2y I A

(1) ¥ A T

(4) TAEL B

h

150, wma & weafa @ g fGakes meea &

g At E & -

(1) w43 F 5 7 & faifam weem
A U o faum omas &

Fraifam w2

(2) ©Hz % 2E ®edl awn e R

o waran & i v

(3y #we, frm waal e faum

uftdl & ot fralfm wem

(4)  FHE & M Hedl & i weE



